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ign Problem) (25 point:

ints) Describe the operation of a sliding window flow control scheme as
ented at the transport layer. Also, illustrate it by discussing its implementation by

(a),
waiting and in-service packets).




oints) Using the result obtained in (c), calculate the realized packet blocking
bability and then the ensuing packet throughput rate (expressed in packets/sec

ion of a network layer protocol entity.
that transmits packets across a wireless link by using two
one of the two channels becomes available, a queued packet is
across it (either one of the channels is assigned if both
is exponentially distributed. The
C sec when the system contains a total
ne of the channels). In turn, the service
d kept at this level for as long as the




